3N NMATKYMPIA OAYMMNIAAA NOAITIKHZ
OIKONOMIAZ OAHIIEZ NMPOZ TOYZX
AIAFQNIZOMENOYZ INSTRUCTIONS TO
CANDIDATES

MNa KaBe epwTNON, ETTIAESTE KOl KUKAWOTE TN OWOTH atmravrnon A, B,r R A

For each question, choose and circle the correct answer A, B, C, or D

1. To AkaBdapioTto Eyxwpio Mpoidv (AEN) piag xwpag eivai:

A. n ouvoAikn aia ayopds OAWV TWV TEAIKWV ayaBwy TTou TTapdyovTal HECA O€ PIo XWPa o€ €vVa
£10G

B. n ouvoAikf agia ayopdg OAwWV Twv TEAIKWY UTTNPECIWV TTOU TTapAyovTal JEoA O€ IO XWPA O€
éva €106

I". n ouvoAiKA aia ayopdg Twv TEAIKWY ayabwy Kal UTTNEECIWY TTOU TTApAyovTal JEoU € HIO XWPO
o€ éva £T10G

A. n ouvoAikn aia ayopds Twv evOIAPNECWY ayaBwy Kal UTTNPECIWY TToU TTapdyovTal H€oa o€ Jia

XWpa o€ £va €T1og

1. The Gross Domestic Product (GDP) of a country is:

A. the total market value of all final goods produced within a country in a year
B. the total market value of all final services produced within a country in a year
C. the total market value of final goods and services produced within a country in a year

D. the total market value of intermediate goods and services produced within a country in a year

2. MovoTTwAIaKOG avTaywviouog UTTapyel Otav TrapatnpouvTal:

A. Mia povadikr) ETTIXEIPNON XWPIG AVTAYWVIOTEG

B. TMoAAEG eTTIXEIPAOEIG PHE EAAPPWG BIOPOPOTTOINUEVA TTPOIOVTA

. MIkpOG apIBUOG ETTIXEIPAOEWY PE OUOIOYEVH 1 DIAQOPOTTOINUEVD TTPOIGVTA

A TOAAEG €TTIXEIPNOEIG PE ATTOAUTA OUOIOYEVH TTPOIOVTA

2. Monopolistic competition exists when:

A. A unique business with no competitors
B. Many firms with slightly differentiated products
C. Small number of enterprises with homogeneous or differentiated products

D. Many businesses with perfectly homogeneous products



3.0\o1 o1 Mo KATW TTapAyoVvTEG €ival CUVTEAECTEG TTAPAYWYNG EKTOG OTTO:
A. 10 KEQAAQIO

B.myn

I". TNV epyaaoia

A. Tov TOKO

3. All the factors below are factors of production except for:

A. capital
B. land
C. labour

D. interest

4.0 vopuog TG eBivouoag epgavigeTai :

A. o010 0TAdIO TNG APVNTIKNG OPIAKAS aTTOdOCNG
B. 010 0TAdI0 TNG YPBivouoag OPIAKAG aTTddoong
I". 010 O0TAdI0 TNG aUEouocag OpIaKAGS aTTéd00NG

A. 010 0TAdI0 TG AUEOUCAG Kal TNG APVNTIKNAG OPIAKAG atTédoong

. The law of diminishing returns appears:
. in the stage of negative marginal return
. in the stage of diminishing marginal returns

. in the stage of increasing marginal returns

O 0O w > A

. in the stage of increasing and negative marginal returns

. Moia a1réd TIg akdAoubeg KaTnyopieg ayabwyv TTapouaidlel EAaOTIKR) ATNOoN;
. AyaBd TToAuTeAgiag
. AyaBd pe Aiya utrokatdoTaTa

. AyaBd tTou yia Tnv ayopd Toug aTTaITEITal JIKPO PHEPOG TOU EI000AUATOG

> B v I

. Mn diapkn ayaba.

. Which of the following categories of goods presents elastic demand?
. Luxury goods
. Goods with few substitutes

. Goods where for their purchase a small amount of income is required

O 0O o > a

. Non-durable goods



6. Edv n ehaoTikOTNTA TNG £TNONG YIa aAoupivoxapTo eival 1,45, 1é1e pia peiwon 2,4% NG TIMAG

Tou au¢dvel Tn nToupevn TTOOOTNTA TOU KATA:

A. 1,66% kal w¢ atroTéAeopa Ta oUVOAIKA €00da TTWANTWY aAoupivoxapTou Ba auénbouv
B. 1,66% Kol wg ammoTéAeopa Ta OUVOAIKA £000a TTWANTWY aAoupivoxapTou Ba peiwbouv
I". 3,48% kal wg atmoTéAEOUA TA CUVOAIKG €0000 TTWANTWY aAoupivoxapTou Ba augndouv

A. 3,48% Kal WG aTTOTEAEC A TA CUVOAIKA £000a TTWANTWY aAoupivéxapTou Ba peiwbouy.

6. If the elasticity of demand for aluminum foil is 1.45, then a 2.4% decrease in its price increases
its quantity demanded by:

A. 1.66% and as a result the total revenue of foil sellers will increase

B. 1.66% and as a result the total revenue of foil sellers will decrease

C. 3.48% and as a result the total revenue of foil sellers will increase

D. 3.48% and as a result the total revenue of foil sellers will decrease.

7.270 TTIPWTO OTAdIO TTAPAyWYNS Ol METARANTEG YE TOV OTABEPO GUVTEAEDTN) GUVOUAlovTal:
A. atrodoTika

B. acUpgopa

I". oAoéva kal TTIo ducavaioya

A. apvnTiK&

. In the first stage of production, the variables with the fixed coefficient are combined:
. effectively

. unprofitably

. increasingly disproportionately

O 0O m >» N

. hegatively



8. Avetal 1o 1110 KATW dIdypapua

Kapmoheg ETaBepo0, MeTafAnTol koo Zuvorlikol KéoToug
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8. The following diagram is provided



The distance representing the fixed cost is:
A. HO

B.EZ
C.TA
D. AB

9.Katd 1n didackahia Tou ke@aAaiou «Mop@ég ayopdc» dOBNKE TO MO KATW SIAYPAUUA:
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Me Bdaon 1o didypaupa, Ta KEPDN TNG ETTIXEIPNONG OTO GPICTO £TTITTEDO TTAPAYWYAS gival:
A. ©HAM
B. OETA

. ©ZBK
A. OEAI

9 During the process of teaching the chapter of "Market Forms", the following diagram was

ATC

i

ANC

Eaoba kal Kdotoc

i Y-

N —————esmmg =

& 7 2
NMoodTmToa



provided:

Based on the diagram, the firm's profits at the optimal level of production are:

A. OHAM
B. OETA
C. 0ZBK
D. ©EAI

10. Mwg 10 Kutrpiakd AkaBdpioto Eyxwpio Mpoidv (AEM) diagéper amd 10 AkaBdpioto EBvIKO
Mpoidv (GNP);

A. GNP = AET — amméofBeon

B. GNP = AEI + €106dnua 1mou kepdiouv ol KUTTPIOI UTTAKOOI TOU EEWTEPIKOU — €100dNUa EEvy
utTNKOWV TTOoU dlauévouv atnv KOtrpo

. GNP = AEI + e106dnua 1Tou kKepdiouv ol ETTIXEIPNOEIG

A. GNP = AEI — éupecol edpol + TMIBOTACEIG.

10. How does the Cypriot Gross Domestic Product (GDP) differ from the Gross National Product
(GNP)?

A. GNP = GDP - depreciation

B. GNP = GDP + income earned by Cypriot residents in foreign countries — income of foreigners
residing in Cyprus

C. GNP = GDP + income earned by businesses

D. GNP = GDP - indirect taxes + subsidies.

11 To oUVOAO TWV OUOIBWY TWV CUVTEAECTWY TTAPAYWYAG MIOG OIKOVOMiag(MIoBoi, evoikia, TOKoI Kal

KEPDON) aTTOTEAEI:

A. 10 KaBapd Eyxwpio Eicédnua ot Tiuég Ayopdg
B. To AkaBdpioTto Eyxwpio Eiodédnua og Tigég Ayopdg
I". To KaBapd Eyxwpio Eiocédnua o€ TiuéEG ZuvTeAEOTWV

A. 10 AkaBdapioTo Eyxwpio Eiocédnua o€ Tigég ZuvTeAEOTWV

11 The total remuneration of the production factors of an economy (wages, rental income, interest

income and profits) is:

A. Net Domestic Income at Market Prices
B. the Gross Domestic Income at Market Prices
C. the Net Domestic Income at factor Prices

D. the Gross Domestic Income at Factor Prices



12. Nekpo onpueio Aéyetal T onueio :

A. OTO OTT0i0 PEYIOTOTTOIEITAI TO KEPDOG

B. 110U N €TMiX€ipNON €XE1 PUCIOAOYIKO KEPOOG UNOEV
I". TToU n €TTIXEIPNON £XEl OIKOVOUIKO KEPDOOG NOEV

A. TTou n emixeipnon €xel GUVOAIKO KEPOOG UNdEV

12. Break even point is called the point:

A. at which profit is maximized

B. where the business has a zero normal profit
C. where the business has zero economic profit
D. where the business has a zero total profit

13.®avepod KOOTOG Bev eival:

TO KOOTOG TTOU KaTARAAAETQI ATTO TNV ETTIXEIPNON YIG TNV OTTOKTNGN CUVTEAECTWY TTAPAYWYNG

Ol APOIBEG TWV CUVTEAECTWY TTAPAYWYNG TTOU AVIKOUV O€ TPITOUG

TO KOOTOG TTOU KaTaxwpeital ata AoyioTika BifAia

> 0w >

Ol APOIBEC TWV CUVTEAECTWY TTAPAYWYNG TTOU AVIIKOUV OTOV IETTIXEIPNMATIO

13.Explicit cost is not:

A. the cost paid by the company to acquire factors of production

B. the remuneration of the factors of production belonging to third parties

C. the cost recorded in accounting books

D. the remuneration of the factors of production belonging to the entrepreneur

14. To cUVOAIKO TTPOIOV PEYIOTOTTOIEITAI OTO ONUEIO OTTOU:
A. To yéoo TTpoidV YEYIOTOTIOIEITAI

B. To oplakd tpoidv undevileTal

I". To 0pIAKO TTPOIGV YEYIOTOTTOIEITAI

A. To yéoo 1poidv 1I00UTAl JE TO OPIAKO TTPOIOV

14. Total product is maximized at the point where:

A. Average product is maximized

B. Marginal product becomes zero



C. Marginal product is maximized

D. Average product equals Marginal product

15. 'EoTtw 611 n eAaoTIkOTNTA ATNONG TwV BIBAIWYV gival ion pe 2 kai 611 o1 BIBAIOTTWAESG PEIWVOUV
TNV TIuAR Katd 10%. Edv 6Aol o1 GAAo1 TTpoodiopioTiKoi TTapdyovTeg TNG ¢ARTNong BIBAiwvV

TTapapévouv oTaBepoi, TOTE N PETAPBOAN TNG TIUAG Ba eTTIQEPEL:

A. Augnon Tng ¢nToupevng TToodTNTag BIBAIWY KaTd 20%
B. Meiwon 1Tng ¢nToupevng TooéTtnTag BIBAiwy Katd 20%
I". Augnon Tng {nToupevng TToooTNTAG BIBAIWY KATA 5%.

A. Mgiwon Tng ¢ntoupevng ToooTNTAS BIBAIWY KOTA 5%

15. Suppose that the elasticity of demand for books is equal to 2 and that booksellers reduce the
price by 10%. If all other factors affecting the demand for books remain constant, then a change in

price will cause:

A. Increase of the quantity of books demanded by 20%
B. Decrease of the quantity of books demanded by 20%
C. Increase of the quantity of books demanded by 5%.
D. Decrease of the quantity of books demanded by 5%

16. Otav 10 KpATOGg BéAEl va augnoel Ta €é00da autdvel Toug POPOUG OTA TTPOIOVTA:
A. Mg avehaoTiki {ATnON

B. Mg mTAnpng eAaoTIkn {rTnon

I". Mg eAaoTikKOTNTO peyaAUTepn atod 1

A. Mg ehaoTikOTNTA ioN PE 1

16. When a country wants to increase its revenue, it increases taxes on products:

A. With inelastic demand

B. With perfectly elastic demand
C. With elasticity greater than 1
D. With elasticity equal to 1



17. Aivetal 0 TTAPAKATW TTiVOKAG:

Mapayopeveg ZuvoAIKO
Movadeg KéoTog
Tovol €
0 200
1 600
2 1.100
3 1.400
4 1.800
5 2.600

To yéoo PeTafANTO KATd povada otav TTapdyovTal TEcoEpPIS (4) HovAadeg sival:

A. €420
B. €700
. €400
A. €580

17. You are provided with the following table:

Units Total
Produced Cost
Tonnes €

0 300

1 700

2 1.300

3 1.500

4 1.900

5 2.800

The Average Variable Cost per unit when four (4) units are produced is:
A. €420
B. €700
C. €400
D. €580



18. Av 10 GUVOAIKO KOOTOG Kal TO 0TaBepd KOOTOG TTapaywyns Twv TTévte (5) povdadwy gival €930

kal €180 avTioTolxa Kal To opIakd KOOTOG TNG €KTNG (6) povadag sival €390, ToTE:

A. T0 yéoo oTaBePsd KOOTOG TWV £€1 (6) povadwy eival €55
B. 10 yéoo peTapAnTé KOOTOG TWV £EI (6) Hovadwy eival €170
I". To yeTaPBAnTé K6OTOG TWV £E1 (6) PHOoVAdwy gival €720

A. T0 y€00 OUVOANIKO KOOTOG TwV £&1 (6) Jovadwy gival €220

18. If the total cost and fixed cost of production of the five (5) units are €930 and €180 respectively
and the marginal cost of the sixth (6) unit is €390, then:

A. the average fixed cost of six (6) units is €55
B. the average variable cost of the six (6) units is €170
C. the variable cost of the six (6) units is €720

D. the average total cost of the six (6) units is €220

19. OAeg 01 KOUTTUAEG eXouv oxfAua U ekTOG aTTd TNV:

A. KapTruAn opiakou KOOGToUG
B. KaptruAn péoou otaBepol K6OTOUG
I". KaptruAn yéoou ouvoAikoU KOOTOUG

A. KaptruAn péoou petaBAntou k6oTOUG

19. All curves are U-shaped except for the:

A. Marginal cost curve
B. Average fixed cost curve
C. Average total cost curve

D. Average variable cost curve

20. Otav Kutrpiog ToAiTng ayopddel autokivnto atrd 1n Mepuavia, ToTE:

A. o1 kaBapég eEaywyég Tng Kutrpou kai To AENM tng Kutrpou peiovovTal
B. o1 kaBapég eCaywyég Tng Kutrpou mTapapévouv otaBepég kal 1o AEN tTng Kutrpou peiwveral
I. o1 kaBapég eCaywyEg TNG Kutrpou kai o AEN 1Tng Kutrpou mapapévouv otabepd

A. o1 kaBapég eCaywyEg TNG Kutrpou peiwvovTal kai To AEN tng Kotrpou Trapapével otabepod.



20.When a Cypriot citizen buys a car from Germany, then:

A. net exports of Cyprus and Cyprus's GDP decrease
B. net exports of Cyprus remain stable and GDP of Cyprus decreases
C. net exports of Cyprus and Cyprus GDP remain stable

D. net exports of Cyprus decrease and Cyprus's GDP remains stable.

21. Ta 1o KaTw OeB0OUEVA AVAPEPOVTAI O€ UIO AVTAYWVIOTIKA ETTIXEIPNON.

P =50 FC = 6000 AVC =20

H emixeipnon mpayuarotrolel kEpdog 30000

A. o1ig 17000 povadeg
B. o1 200 povadeg

I". oTig 40000 povadeg
A. o1 1300 povadeg

21. The data below refers to a competitive business.

P =50 FC = 6000 AVC = 20

The business makes a profit of 30000

A. at 17000 units
B. at 200 units
C. at 40000 units
D. at 1300 units

22. Otav ol KaTavaAwTEG ivar diateBeIuévol va ayopAdaouv OTToIodNTTOTE TTOCOTNTA ATTO éva ayabd

O€ JIa OpIoHEVN TIWN, TOTE TO ayaB0 auTtod €xel EAAOTIKOTNTA ATNONG:

A.’lon pe Tn povada.

B. lon pe 10 a1Teipo.

I". MikpOTEPN TNG HOVADOG.
A.’lon pe 10 pndév.



22. When consumers are willing to buy any quantity of a good at a certain price, then that good has

elasticity of demand:

A. Equal to unity.
B. Equal to infinity.
C. Less than unity.

D. Equal to zero.

23. Ta gBivovta £¢oda:

A. Auéavovtal Katd 5%, oTav PEIwvETal N TTapaywyn Katd 5%
B. MeiwvovTtal katd 5%, 6tav augdvetal n rapaywyr katd 10%
I". MeiwvovTail katd 15%, dtav PelwveTal n Tapaywyn katd 15%

A. Auéavovtal katd 5%, otav augdveTtal n Tapaywyn katd 15%

23. Declining costs:

A. Increase by 5% when production decreases by 5%

B. Decrease by 5% when production increases by 10%
C. Decrease by 15% when production decreases by 15%

D. Increase by 5% when production increases by 15%

24 .Av 10 AEIT Tou 2016 fTav €400 ek. kai Tou 2022 eival €900 ek.
ETriong, av o Asiktng Tipwv Tou 2016 Atav 100 povadeg kai To 2022 givar 450 povadeg.
Tote, n agia Tou AEIN Tou 2022 o€ oTaBepég TINES Tou 2015 Ba ivai:

A. €200 ex.
B. €450 ex.
M. €900 ek.
A. €400 ex.

24. The GDP in 2016 was €400 million and the GDP in 2022 was €900 million. The Price Index in
2016 was 100 units and in 2022 was 450 units.
What is the value of GDP in 2022 at constant prices of 2015?

A. €200 million
B. €450 million
C. €900 million
D. €400 million



25. H diapkng BeAtiwon Tng TtexvoAoyiag eival To pévo 1oxupd OTTAO TTou dIaBéToupE yia va

QVTIMETWTTICOUHE TOV oiiiiiiiiiiiiieieee et

A. véuo Tng gBivoucag amédoong.
B. vopo g utrepBaAAoucag CATNONG

I". vopo TG ¢ATNONS
A. véuo TG Tpocopdc

25. The continuous technological enhancement is the only efficient method we have to deal with

A. law of diminishing returns.
B. law of excess demand

C. law of demand

D. law of supply



